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Jakotaulut

5 poytaa, 9 paria, 1 lepopari. Jakomaara: 27. Keski: 81,0. Lepokierros (*) antaa pelattu prosentti.

Sija Pari Pisteet % Nimi Kerho

1 9 106,9 * 66,0 Outi Sakajarvi - Rauno Tasala Salon BK

2 6 91,1 * 56,3 Risto Noki - Jaakko Viima

3 2 88,9 * 54,9 Eero Kallio - Varpu Honkakoski Salon BK

4 1 87,8 * 54,2 Robert Saltin - Anna-Liisa Hiuspaa Salon BK

5 3 77,6 * 47,9 Ritva Nuoritalo - Jouko Kerko Salon BK

6 8 75,4 * 46,5 Mari Avellan-Kotikoski - Maija Kivimaki

7 5 73,1 * 45,1 Jukka Pettersson - Jorma Kotikoski Salon BK

8 4 67,5 * 41,7 Ulla Kakko-Paajanen - Jouko Paajanen Salon BK

9 7 60,8 * 37,5 Saara Kupiainen - Tuure Salminen Salon BK
Jako: 1 Jako: 2
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
46 3N S -1DA -50 4,0 2,0 98 24 S =D3 110 6,0 0,0
52 25 S -1DK -50 4,0 2,0 73 3H S -1S3 -100 4,0 2,0
98 3N S -1 DA -50 4,0 2,0 52 35S W +1 HK -170 2,0 4,0
73 3N N -4C5 -200 0,0 6,0 46 4S E +1 D5 -450 0,0 6,0
-1 Lepokierros 3,3 -1 Lepokierros 3,3
Jako: 3 Jako: 4
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
73 3D W-1¢C9 100 6,0 0,0 63 45 S =D4 620 6,0 0,0
46 2D W +2 S9 -130 4,0 2,0 19 35 S =D9 140 2,0 4,0
98 2D W +3 S9 -150 2,0 4,0 57 2S5 S +1 CA 140 2,0 4,0
52 3N W +1 H2 -630 0,0 6,0 84 35 S =CA 140 2,0 4,0
-1 Lepokierros 3,3 -— 2 Lepokierros 3,3
Jako: 5 Jako: 6
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
57 2H W +2 S6 -170 6,0 0,0 57 3N E -1H5 100 6,0 0,0
84 44 W = CA -420 4,0 2,0 63 25 W = D10 -110 4,0 2,0
6 3 4H E +1 SQ -450 2,0 4,0 84 2N W = HA -120 2,0 4,0
19 4Hx E = D4 -590 0,0 6,0 19 3N E =H5 -600 0,0 6,0
-— 2 Lepokierros 3,3 -— 2 Lepokierros 3,3
Jako: 7 Jako: 8
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
6 8 4Sx W -3 D9 800 6,0 0,0 6 8 4Hx S = SA 590 6,0 0,0
95 3Sx W-2C2 500 4,0 2,0 21 25 W-1H4 50 4,0 2,0
21 25 W -1H2 100 2,0 4,0 95 44 S -2 C3 -100 2,0 4,0
74 2N S -4 54 -400 0,0 6,0 74 1IN N -3 59 -150 0,0 6,0
- 3 Lepokierros 2,9 -- 3 Lepokierros 2,9
Jako: 9 Jako: 10
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
21 IN S -2 H8 -100 6,0 0,0 16 4Hx W -1 C10 200 5,0 1,0
68 2H E =D5 -110 4,0 2,0 8 5 4Hx W -1 C10 200 5,0 1,0
74 2H E +1 S8 -140 2,0 4,0 32 4H W -1 54 100 2,0 4,0
95 44 E =CK -620 0,0 6,0 79 4H W +1 C5 -650 0,0 6,0
- 3 Lepokierros 2,9 -—- 4 Lepokierros 2,5
Jako: 11 Jako: 12
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
16 3Nx W -3 HK 500 6,0 0,0 32 2H S =DA 110 6,0 0,0
85 5H N -3 DA -150 4,0 2,0 85 25 S -1DA -100 4,0 2,0
32 6C W = H8 -920 2,0 4,0 79 3N S -2 S3 -200 2,0 4,0
79 6S E =HA -980 0,0 6,0 16 44 S -3 DA -300 0,0 6,0
-—- 4 Lepokierros 2,5 -—- 4 Lepokierros 2,5
Jako: 13 Jako: 14
Pari Sit LK Tulos Pisteet Pari Sit LK Tulos Pisteet
27 44 N +1 C5 650 6,0 0,0 27 3N E -1 D10 50 6,0 0,0
96 2D S +5 C9 190 4,0 2,0 43 3D E +1 CK -130 3,0 3,0
81 2H S +2 D9 170 2,0 4,0 81 3D E +1 CK -130 3,0 3,0
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43 5D S -1S5 -100 0,0 6,0
-- 5 Lepokierros 2,7
Jako: 15
Pari Sit LK Tulos Pisteet

96 3H W -2 DA 100 6,0 0,0

27 2H W -1C9 50 3,0 3,0

81 3H W -1 DK 50 3,0 3,0

43 1H W = DA -80 0,0 6,0
-- 5 Lepokierros 2,7
Jako: 17
Pari Sit LK Tulos Pisteet

17 5C S -1 S10 -50 6,0 0,0

54 5Cx S -1 DA -100 4,0 2,0

92 5D W =¢cC2 -400 2,0 4,0

38 5D W+1 C2 -420 0,0 6,0
-- 6 Lepokierros 3,4
Jako: 19
Pari Sit LK Tulos Pisteet

13 3C W +1 H9 -130 6,0 0,0

28 4H E +1 SQ -650 3,0 3,0

49 4H E +1 DQ -650 3,0 3,0

65 4H E +2 SQ -680 0,0 6,0
-— 7 Lepokierros 2,3
Jako: 21
Pari Sit LK Tulos Pisteet

13 3N N =0D5 600 5,0 1,0

65 3N S =D4 600 5,0 1,0

49 1C S +2 H3 110 2,0 4,0

28 2N S -1 D10 -100 0,0 6,0
-— 7 Lepokierros 2,3
Jako: 23
Pari Sit LK Tulos Pisteet

24 3C E =H2 -110 5,0 1,0

76 2C E +1 S3 -110 5,0 1,0

39 3N E = S3 -600 2,0 4,0

51 3N W +2 H4 -660 0,0 6,0
-- 8 Lepokierros 2,8
Jako: 25
Pari Sit LK Tulos Pisteet

6 2 1Hx S +2 D5 360 6,0 0,0

35 1S N +3 CA 170 4,0 2,0

87 2H S =D5 110 2,0 4,0

41 2S N -1 SK -50 0,0 6,0
--9 Lepokierros 4,0
Jako: 27
Pari Sit LK Tulos Pisteet

87 1C S -1 DA -50 6,0 0,0

35 2D E = H6 -90 4,0 2,0

62 1D S -2 CJ -100 2,0 4,0

41 3H W+1C5 -170 0,0 6,0
--9 Lepokierros 4,0
Jakotaulut
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